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 OVERCALLS (Stlye; Responses; 1/2 level; Reopening)

 Natural, 7+HCP; New Suit = F1; Cue Bid = FG over M, Limit Raise or Better;

 Jump RAISE=PRE; NT Resp=Semi-forcing over M, NF over m;  SUIT

 Fit showing jump fit Reopening : Can be weak;  NT  Event  Any Event

 Michael cue-bid ..(PRE or STR)  SUBSEQ  Category  Precision - Blue 

 Drury 2} after third hand or overcall

 1NT OVERCALL (2
nd

/4
th

 Live; Responses; Reopening)

 2nd POS=15+-18, 2{=M asking, 2}/[=TRF, 2]=m suit STAY; Lead

 LEBENSOHL; Reopen 1NT=10+-14; 4th live = 15-18;  Ace

 PH=distributional two suiter  King

 Queen

 Jack

 JUMP OVERCALLS (Style; Responses; Unusual NT) 10

 1- Suit : PRE 9

 2- Suit : 2NT = 2 unbid suit WK or STR  Hi - x

 Low - x

 Reopen : 6+ good suit opening bid

 DIRECT AND JUMP CUE BIDS (Style; Responses; Reopen)

 MICHAELS CUE: ...(PRE or STR) over Nat Bid, 2NT=asks m; 1st

 JUMPS in known suits constructive; New suit=NF; direct SUIT 2nd

 jump cue, stop asks 3rd

1st

 VS. NT (vs. STR / WK; Reopening; PH) NT  2nd

2{ Majors;2} one suit M; 2[/] =[/]+minors;X=STR 14+;2NT=minors 3rd

 Pass Hand X = One suiter Minors, others same as above

 VS. PREEMPTIVE (Doubles; Cue-Bids; Jumps; NT Bids)

 LEB after(WK2x)-DBL-(P)-;DBL=T/O thru high level except

 4[ (optional); Cue+Jump Cue and Jump are specific [10]

 VS. ARTIFICIAL STRONG OPENING

 Over 1{. DBL= Majors; 1}=Mixed; 1[ = Red;1]=Black; 1NT=minors

 1{ - Pass - 1} - same but 2{ = Mixed

 OVER OPPONENT'S TAKEOUT DOUBLE

 TAKEOUT DOUBLES (Style; Responses; Reopening)

 SPECIAL  ARTIFICIAL AND COMPETITIVE  DOUBLES/REDOUBLES

 Repeat same suit NEG DBL=T/O; MAX DBL; Supp DBL and REDBL;

 Resp DBL thru 4]; OPT DBL: use Law of Total Tricks

 

 or rebid; 1{-(1])-DBL: exactly 4[;1{-(1[)-DBL suggests 4+], 8+ HCP; 

 SPECIAL FORCING PASS SEQUENCES

 Psychics: Rare

 (NV3x) - DBL - (5x) - P = F; (NV3x) - 3y - (5x) - F

 IMPORTANT NOTES THAT DON'T FIT ELSEWHERE

 We do not pass when unclear

 SPECIAL  BID  THAT   MAY  REQUIRE  DEFENCE

 Signal in order of priority

DOUBLES

 Signals (including trumps) : Trumps : Hi-Lo Show O number

 SMITH SIGNAL VS NT

 Hi/Lo = O

 Hi = DSCRG

 S/P

 Hi = DSCRG

 S/P

 109, 109x(+), HJ10x(+)

 HxS, xSx

 9x, H109x(+)

 Sx, xSxxx, 98x(+)

 Partner's lead

 Hi/Lo = O

 Same

 Same

 Same

 Hi = DSCRG

 S/P

 Hi/Lo = O

 Hi/Lo = O

DiscardingDeclarer's lead

                  A asks ATT, 10 or 9 = Top or 2 higher 

 LEADS

 AKJ10(+); KQ109(+); KQx AK, KQx(+)

Vs. Suit

 AKx(+), Ax(+), AKJ10(+)  AKx(+); Ax
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 Same

 Strong 1{, Mainly ART resp, Super Precision Asks,

 5-card M, Many FIT bids,

 KQ109(+), QJ10(+), QJx(+)

 OTHER :  Up to Q in dummy, J denies higher. Vs NT, Q/K asks CT/UB

 4th

 4th

 QJ, QJx(+)

 J10, J10x(+)

 Hi/Lo = O

 S/P

 OPENING LEADS STYLE

LEADS AND SIGNALS

 S/P

Lead

 3/5th

In Partner's Suit

 low = 3 or more

 GAMBLING 3NT with  no outside K or A

 NAMYATS (SOL [/]) with outside A or K;

 Hi/Lo = O

 S/P

 Hi = DSCRG

 1NT OPENING : WK, 11-14 HCP ; 

 2 OVER 1 RESPONSES : FG/1M ; 1}-2x=F2NT

 Same

INDONESIA

 After Oppts 1NT O/C ;

 Obar Bids (8+);

 Lebensohl Slow;

 Competitive Cue = LIM Raise or Better;

 Fit Showing Jump ;

 Escaping From 1NT Doubled 

 Reverse Flannery 2[ to 1};

 Bergen 4 cards raises over M;

DEFENSIVE  AND  COMPETITIVE  BIDDING

 Can be light; Cue-Bid = F1; LEB; 1m-(DBL)-1M-(2M)=NAT;

 OBAR DBLS (8+ HCP); Jump Cue = SOL, Asks STOP

 NEG DBL THRU 4[; Neg DBL at 3 level after 1 NT opening

 same

 same

Vs. NT

SYSTEM  SUMMARY

 GENERAL  APPROACH  AND  STYLE

 2} = 4414/4405 Short } or (43)15, 11-15; 

 1NT  over M F1; 

 1}= 2+, 15-17  HCP BAL or 11-15 HCP 4+}
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DESCRIPTION RESPONSES SUBSEQUENT ACTION PH

 1}=NEG; 1[=8+ 5+card ]; 1]= 8+ BAL;1NT=8+ 5+card [;  Opener rebid 1]=F1 After Neg RESP; 

 2{/}= 8+ 5+ card }/{;2[=4441,8+; 2]=8+ 6m+4 any;    

 2NT-3[ ART 2 suiter 8-10;3] solid {/} 

 11-17, may have 1NT=NF, 2/1 F2NT; 2[=Reverse Flannery;2]/NT= 5/5 ]/[+{ INV  4th suit F, FG if bid at 3 level; 6{+ 5 M if jump in M; 

 5{+4M (22) 15-17  3{=5/5 m 7-9;3x= PRE not game against opener 15-17 BAL;  After Resp. 1M rebid 1NT=12-14 HCP BAL 

 Reraise=6 card choice of game, 4SF;

 Short and Help Suit Trial Bid

 2{=M asks NF; 2R=TRF; 2]=Two suit m INV+ or INV D;  New suit after TRF=F, New suit after 2}=NF at 

 2NT = one suiter m ; 3C=6+ INV. 3D = 5/5 M IN 3H/S SPL  2 level; SPL bid after TRF and M asks

 11-15, 5{+4M 22  2}/[/]=F1; 2NT=Puppet to {; 4}=RKCB;

 open 1NT  Raise = LIM; Jump Raise = PRE

11-15, 4414/4405 After F, opener bid 3{= min; 3}=4414 max;

 (34)15 Short }  3[=4315 min, 3]=3415 max; 3NT=4414 or 4405 max

2M 6  6 - 10 WK  2]/NT=Asks SPL; New Suit=F

2NT Ö 8-10, 2 suiter minors 3{ ART, 3}=TP others NAT=F, 4m = Slam Interest

3x 6  PRE  New=F; 4m=RKCB after PRE; Jump suit=Asking Bid (0, 2nd, 1st)

 3NT  SOL m No O/S A  4{=P/C; 4}=F Ask SPL After F, opener bid 3{= min; 3}=4414 max;

4m Ö  SOL M 7 1/2 Tricks  4(m+1)=F Ask SPL  After F, opener rebid 4M=SPL; 4NT=SPLm; 5}/{=No SPL

4M  PRE  4NT=RKCB after PRE

4NT   Specific Asking Ace  5} denies Ace

5m 8  PRE

5M  Classic  Raise 1 level for each top honor

 except fit in m in 4-level; When we have bid and raises two suits, 

 Drury Fit 
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1}  New = NF

1{ 4[

Ö

 any 16+, If BAL 18+  Same As By UPHÖ

 then RKCB is for 6 key-cards w/ the Q of last bid suit.

HIGH LEVEL BIDDING

4]

2 4{

11-17,If 15-17 if BAL

 Same As By UPH

 RKCB (1430) with Queen responses; DOPI; DEPO; ROPI; GERBER(1430);

 5NT=GSF ; LIGHTNER; NEG SLAM DBL(pass=0-2 tricks,DBL=1 trick);

 In FP "fit" situations:DBL is regressive, pass then pull is slam try; 

 1NT=F; Bergen Raise; Jump Suit=SPL; Jacoby 2S asks SPL 2NT NAT

 2NT=Relay; Bid Suit = NF

 11-14, 

 Same As By UPH4]2{ 5

 After we shows 9+ cards in 2 suit and a FG fit is established, a new suit is SPL, 

1M 5

 Same As By UPH2}

1NT

 Cue, start with K; SPL; Blackwood (1430); 


